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Zol?

@ 18ecm @ 20em @ 22cm @ 24cm (®)26cm

AABC = o] 5HAZIg o] /A = /Co|BR
/DAC = /DCA, CD = AD = 8cm
= (EES Zo]) = (5+ 8) x 2 = 26(cm)




® BC = AD
@ AD =AC
® /B = /BAD

@zADB =90°
©® aABDE °lsHHZF oI,

ofh

AABD = AADC (SAS &%)




(M)AD = BC
® /ADB =90°
® /B =.C

@ (ADB = /ADC
@ AADB = AADC

@ AD1BC




-
Q

O /A =80°°|H /B =60° oJtt.

@zB = /C

® /A =50°°]H /B =45° o]},

@®)BD =DC

AABC 7} o] 5HAZ g ol B2 /B = «C °]4l,
(A =80°4Y 1 /B
=1 o
oz
/ADC = 90° ©]1. BD = DC ©]t}.

o]E 2 AABC & A4zt o] =t

)
oS AAZIG el N BA 2] o FHAL WAL 50|55}

223 /A = 60° ©]®, /B = /C = (180° -

60°) +2 = 60°




@® 14 @ 15 ® 16 @)18 ® 19

Q12 0] AABC o] 4]

/ABC = /ACBO|E & AABCE o|5 WAz ot}

Sox=38

T, Q220 AABC oA

/BCA = 180° - (30° + 75°) = 75°°]| 2 & AABC = o] 5 HA}
Zhggoltt,

x=10

s(x9] dolo h=8+10=18

ofll




9. thg 1 Zo] AABC 7H FOIHS ), x, y O] 3E?

@x:6,y:50° @x:7,y=45°
@xz?,y:50° @ x=7 y=65°

® x=8,y=50°

/ACB = 65° |22 AABC = o| 5847 olt}.
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